SF0 445y i = X 15
HXATF 4 LR L REEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| FEPNRT [RcE (s
1 [E#E3 9 5Fihn 30 | 1.1 H#H [Egtic
2 LEEZRJEEI3 ISR 30 1.1 2t [eeti=
3 _BELLISh oo 30 | 11 Ak [Agki
[iRcaglor | dEe
1 RS MG PN o B R e #i 4. 10 4. 5 i 3.1
2 kLo 30 | LL|P 7.50F 9. 9% 2. 2%t 3.1
5 HEHT g — | B
W] [iEEcR A — | B
TR b A X
1 BEETRE M PN oD B2 Y B 4. 3l 4.7 fll 3.1
2 LECBUt o HbR 30 | L1|F 7.5F 9.9 3.1
1 H AT [EEEIE (A% — | B tl:i’rij i
T LA X 30 | 1.1 Fo10 il 3.1
W RET1~4TH g — | BB
*S PN £ — | Bk
KEE1~6TH |2k — | B
KEH1~9TH EE807 — | BB#R
HET1~3TH Eetin — | B
oy TEAHT Eeei — | BB
BEET1~5TH E3in — | E#R Rk
kEzA L PR
1 B EE SEEGRn 30 | L2 i Bk
2 LS o 30 | 1.2 H#H 2k
T LR Xk
1 RO o B A il X il 4. 280 4. 5 il 3.1
2 LFELh o g 30 | L1 7.4% 9.9 i 3.1
EE gsicn 30 | 1.2 4. zr’@ 4. 1?@ 2. 24 3. 1




SF0 445y i = X °H
HXATF 4 LR L REEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
Dy JIRET N — | B# o= I:I:Zj
JIH (kR AESE 30 | 1.1 LhiE LR Lo
AT {L A X
1 EREiR B s Py o 2 R il KO W 4. 7l 3.1 3.1
2 FEREAAh o Mgk 30 | L1 7.5 9,98 3. 1k 3.1
x| 4tk ot (A 30 | L0 tl:f%r [2i=
AT LA DI
1 FRETRBUME o B A Hi X 4. 1 401 il 3.1
2 LRELU o i 30 | L1|HF 7.4fF 9. 90 2.2 3.1
1~8%m £ — | Bk
1~114%K Eeitd — | B
15 FLAT B — | B
Z| R [EEEIE (A%
1 Ei#E3 9EHRW 30 | 1.1
2 ERLEA O 30 | 1.1 i b
T LA X b
1 REIRE RN o 2 T K 4. 20 4.5 i 3.1
2 LR o 30 | 11| 7.5 9.0 2. 2 3.1
EHVERT 1~ 1 0 T B[4k — | B L
BHHET 1 ~4 TH |2 — | B#
3R ET e — | B o
JEPaHT Ecenn — | B# 2ot tl:ij
i BRET B5% S & EERHEL — | BE# [=oti
LECLAS 0> itk 30 | 1.1 LE7
SeZERT [k A
1 A55S LA — | B [Eeti=
2 kREEAA o M 30 | 1.1 2=
AT L IR X 30 | 1.1 H 9.9 il 3.1




S AF5y i =R * 3H
i CET A4 bR b R B E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
Z| FfT1~6TH N — | B o=
&| EET1~8TH I — | B
®E[1~5TH gt — | B
HET1~7TH [k (A% - | B& i Fai=
L Xk 30 | 1.1 10 i 3.1
= ) Eeein — | B [Ei (e
Ll &XT1~8TH |2 — | B i
BAEHT H5% x LR — | B
ERLEASS 0 i 30 | 1.1
9 FRILRT i — | B i i
cRGEL Eeitd — | B i by
7o KTE T K 30 | 1.1 Jakicc =t I e =
AT AR X
1 IR MR o B2 T i Ik 4. 2Bl 4. ol 3. 1FE 3.1
2 LRELIA o Mt 30 L1 7.4 9,900 2.9
b RT £ — | B
HH ST Eee: — | B# [Eeti=
v EF AT =X
1 RRREHR N O 2 Al b Rl 4. 1G4, Ot 3. Ol 3.1
2 LR o HR 30 | LL|H 9.0 11 3. O[Z 3.1
izl
1 REEHREAIEL N 0 2 A DO f 3. o 4. 0) i 3. 1]
2 ERCEA s 30 | L1|F oo 11
~X
1 WEER145BOLHERLSEHME[ 30 | L1|F 9.0F 11
TOEE3 9 BB
2RI N o T PR 3. S 4. L 2. 8 3.1
3 _bRCLMAE Ot 30 | L.1|% 8.1 10ff 2.8kl 3.1
LFELAS oD Hittek




SF0 445y i = X 1H
HXATF 4 LR L REEE
e R ks @ A o w4 [P PEEERTIBEITOGES
iz| YmEFET 1 REEHREHIE N 0 B A i DO * %;’fm 35&‘@ 4. {iﬁ 2.? 3‘? i |
2 kRIS Hk 30 | L1|H 9.oH 11 2. 8[: 3.
B drET Exs — | B
TRZEw1~9TH (&K - | B& i Fai=
&| wpERT [kl — | HE#R b v LRI
AT AR K ek
1 SRR o R A Wi 4.7 i 3.1
2 RELEA o 30 | 1.1 9.9t 2.2
HEIT1~6TH |42 — | B i
B ET I 30 | 1.1 i 3. T@ 3. O 3. 0
& A/EPEIET Ee — | B R b
& AE T B — | B Fie i
R BRT1I~4TH |2 — | B ei= 2
S AHT [iREaR A% — | B R i
TR bR X 30 1.1 FH O Ol 2. 2 3.1
el = § B3 30 | 1.2 [ 4. 1 4. 1[;& 2. 260 3.1
SRET ko4 — | B#
BEM1~4TH |2k — | iR
W =#1~7 T8 Eetin — | B o= bt“!%‘
iH FHESRT Eeei — | BB be¥E B P
{ER T A2 — | B 2= [eai
ST Eeei) — | B
Oy BAHPIHT b sk
1 T RAIEARLAE 30 | 10 H#H 2k
2 ] RAALARRLLE
(1) [EiE3 9 5mn 30 | L1 He#E [2gi
(2) EfiLSt ok 30 | 1.1 i [Eki=
AT LR (X I8




SF0 445y s ® K 5E
i CET A4 bR b R B E
e R ks @ A o w4 [P PEEERTIBEITOGES
0| serarET | ROERREN O B I P P P P I B
2 ERLIS 0K 30 | L1|h 7.5 9.9
R=#H1~5TH gt — | B e e
Um0 1~8TH |2 30 | 1.1 Ak [Agki
5| WIERT 1 ~4TH Eeit — | B# i
SCRCHT A I — | B [Eeti [Fei
AT LA DI
1 FRETRBUME o B A Hi X f 4. T 2. 2l 3. 1
2 LRELU o i 30 | 1.1 9.9
Vg o (R (aEs: 30 | 1.1 b 2=
TR AR X g
1 BRI PN 0 B A KR Wl 4. 30 4. G0 2. 20l 3.1
2 LELU OISR 30 | L1 7.5F 9. 9E@ 2.2
Jp ety b X g
1 IA5D s LB — | B [E okl tb¥E
2 bRELSt o 30 | L1 Fai= [Eai=
T LT X 30 | 11 9.9
LR 1 ~7TH EE807 — | B =i = =i =
eri~3TH |2 — | Bk
Bl itk Rk 0 | L1 [abice [Eati=
AT AR Xk
1 REEHREAIEL N 0 2 A DO W 4. 2 4.5 i 3. 1]
2 ERCEA s 30 | L1 7.9 9.9
AR ot 4R B LI P o0 fi P L K Al 4. Ll 4. L0 2. 26k 3.1
LIS o s 30 | L1|f 7 4[: 9. 9%l 2. 2t 3.1
A ={ERT =i — | B
m7E1~6TH ML — | B# [2ui=
AT AR I




SF0 445y i = X 6
i CET A4 bR b R B E
e R ks @ A o w4 [P PEEERTIBEITOGES
B Rk R 1~6TH 1 REEHREHIE N 0 B A i DO * | %%4ﬁﬁ3ﬁ%3ﬁ ’ ’
2 ERLIS 0K 30 | 1.1 9.9
FET1~7TH E=ei — | &R 2t [eeti=
FAfRET1~3TH |83 — | Bk
MfT1~3TH Eeit — | B# Ei
EIETE1~5TRH (ALK — | B [ o i - W =i
AT LA DI
1 FRETRBUME o B A Hi X f 4. 7 3. 1 3. 1
2 LRELU o i 30 | 11 9.9
EITHR1I~5TH ML — | B =
TR AR X g
1 BRI PN 0 B A KR i 4. T 3. 1 3. 1
2 LELU OISR 30 | 11 9.9
EIRTEE 1~ 1 0 T B2k — | B Ak i
EEIT1L~10TH |2 — | B
o ) I[HT I 30 | L1 Fai= B
b ARET1~5TH BT — | R
K IUTE1~5TH EE807 — | BB#R
%| B maErT B 1K - B 3K - BdE - JRZE - B . |30 | 1.0 i 3. Gl 3. 2l 3.2
MRPG - JEIR - JERE
RHET A 30 | 1.1
RIEGRR 2 30 | L1 %40&32@32
B I 30 | 1.2 Il i 2
AT i 30 | 1.1
pIvL =<2 3 30 | 1.1 =] e 2=
LFERLIS 0 G 30 | 1.1 %35&30@30
| #¥1~7TH £t — | B i
LFeisk b Xk 30 1.1 (2o = ofi = W =¥
[RakEaul L bi{ER: 7




SF0 445y i = X 7H
i CET A4 bR b R B E
S (TR wass @M m oW g [P ACEERTEECEA RS
NSERIVES 1 REEHREHIE N 0 B A i DO * %%ﬁ 4. TE@ 4. %m 2.{;’5@ 3‘? ’ |
2 FRCLAS D 30 | L1 7.gH 10

LRRLLA oo Hidk 30 1.1 [ 4. 10 4. 50 2. 240 3. 1




